
Sentence Comprehension

Instruction: For the following questions, choose the sentence which has a similar meaning

with the original sentence.

1. My only brother who lives in Jimma has got married.

A. My brother lives in Jimma after marriage.
B. My brother lives in Jimma and he has got married.
C. One of my brothers who lives in Jimma has got married.
D. I have one brother who has got married and lived in Jimma.



A. My brother lives in Jimma after marriage.
Incorrect Try Again



B. My brother lives in Jimma and he has got married.
Correct Next Question
Explanation: The original sentence states that "My only brother who lives in Jimma has got
married," emphasizing that there is only one brother living in Jimma.



C. One of my brothers who lives in Jimma has got married.
Incorrect Try Again



D. I have one brother who has got married and lived in Jimma.
Incorrect Try Again



2. Neither Dagmawit nor Nolawit is attending the class.

A. Dagmawit is in class but not Nolawit.
B. Both Dagmawit and Nolawit are absent.
C. Nolawit is absent but Dagmawit is present.
D. Both Dagmawit and Nolawit are present.



A. Dagmawit is in class but not Nolawit.
Incorrect Try Again



B. Both Dagmawit and Nolawit are absent.
Correct Next Question
Explanation: The sentence "Neither Dagmawit nor Nolawit is attending the class" means that
both of them are absent.



C. Nolawit is absent but Dagmawit is present.
Incorrect Try Again



D. Both Dagmawit and Nolawit are present.
Incorrect Try Again



3. My Uncle, who lives in Addis Ababa, helped me.

A. I have an uncle who lives in Addis Ababa.
B. I have more than one uncle and he lives in Addis Ababa.
C. I have not any uncle who lives in Addis Ababa.
D. I have one uncle, but he doesn’t live in Addis Ababa.



A. I have an uncle who lives in Addis Ababa.
Correct Next Question
Explanation: The sentence emphasizes that there is only one uncle mentioned, and he lives in
Addis Ababa.



B. I have more than one uncle and he lives in Addis Ababa.
Incorrect Try Again



C. I have not any uncle who lives in Addis Ababa.
Incorrect Try Again



D. I have one uncle, but he doesn’t live in Addis Ababa.
Incorrect Try Again



4. Lake Langano is as deep as Lake Shala.

A. Lake Shala is not as deep as Lake Langano.
B. Lake Shala is deeper than Lake Langano.
C. Lake Langano is deeper than Lake Shala.
D. Both Lake Langano and Lake Shala are deep.



A. Lake Shala is not as deep as Lake Langano.
Incorrect Try Again



B. Lake Shala is deeper than Lake Langano.
Incorrect Try Again



C. Lake Langano is deeper than Lake Shala.
Incorrect Try Again



D. Both Lake Langano and Lake Shala are deep.
Correct Next Question
Explanation: The sentence "Lake Langano is as deep as Lake Shala" means that both lakes are
equally deep.



5. The woman wearing the red dress is my sister.

A. I have only one sister who is wearing a red dress.
B. I have multiple sisters, and one of them is wearing a red dress.
C. I have no sisters wearing a red dress.
D. I have a sister, but she is not wearing a red dress.



A. I have only one sister who is wearing a red dress.
Incorrect Try Again



B. I have multiple sisters, and one of them is wearing a red dress.
Correct
Explanation: The sentence suggests that there are multiple sisters, and one of them is wearing
a red dress.

THE END



C. I have no sisters wearing a red dress.
Incorrect Try Again



D. I have a sister, but she is not wearing a red dress.
Incorrect Try Again


